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Key Contributions

• Economic footprint is a more stable measure 
than market capitalization. 

• Economic footprint avoids “buy high, sell low” 
behavior.

• Economic footprint should be proportional to 
market cap, retaining liquidity and capacity.
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The Process
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Key Findings

• Generates statistically meaningful Fama-
French-Carhart Four-Factor alpha.

• Tracking error to S&P 500 comparable to 
Russell 1000.

• Lower turnover than S&P 500 or Russell 1000.
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Concerns

But… what is it?
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What is it?
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Looks like Value

Looks like Growth



If you squint…
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The Economic Footprint… or Multi-Factor Screen?
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Some math later…
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“Economic Footprint” is a Multi-Factor Screen
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“True CW 500”



“Economic Footprint” is a Multi-Factor Screen
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“Economic Footprint” is a Multi-Factor Screen
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The Process is Non-Linear
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Total Market Capitalization (April 2023)
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AAPL
MSFT

AMZN

GOOG

$39.5t
$1.3t

$4t

This stuff always
becomes overweight 
versus the benchmark.

$7.5t

$3.3t



The Mega Caps Got Bigger
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7.5 / (39.5 + 4) = 17.2%
7.5 / (39.5 + 1.3) = 18.4%



Tilting Towards Growth in 2023
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Just 30% of retained 
“True CW 500” is value

20% of “True CW 500” is 
being replaced
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64% of retained 
“True CW 500” was value

40% of “True CW 500” 
universe was replaced



In Conclusion

This is a multi-factor screen: 
Value x Market Cap.

Large(r) glamour is thrown away and 
replaced by small(er) value.

The re-weighting dynamic is key:
- The ”kept” stuff gets larger
- How much was kept?
- Was the kept stuff mostly value or glamour?
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One more thing… Rebalance Timing Luck!
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Appendix A: The Economic Footprint
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Appendix A: The Economic Footprint
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Appendix A: The Economic Footprint
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